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The table shows some values for y = 13—0x3 —2x for —3ex%3.

x G =l Gl - ] 0 1 1.5 2 3

y | =A%) -6 | 20 1 0 |=|-7 | 20 | -16 |
(a) Complete the table. [3]
(b) On the grid, draw the graph of y = 13—0x3 =2x for —3<x<3:

¥
[4]
l/ - l/‘ L
2 2
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(¢) On the grid opposite, draw a suitable straight line to solve the equation 13—0 3 _2x= %(1 —x) for
-3<x<3.

Y=a 4’

(d) For —3 <x < 3, the equation 13—“.)x3 —2x =1 has n solutions.

Write down the value of n.
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The table shows some values for y = x> +3x? +2.

x 35| -3 | =25 | =2 | -15]| -1 | -05 0 0.5 1 1.5
y -41 | 9 | s1 6 5.4 4 2.6 l 2.9 6 12.1
(a) Complete the table. [3]

(b) On the grid, draw the graph of y=x3+3x2+2 for —35<x<15.

)

o] B W

(¢) For —3.5<x< 1.5, the equation x> +3x*+2 =k has three solutions and k is an integer.

Write down a possible value of £.

The Maths Society
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The table shows some values of y =

2x

4

L. X2 p0is<E<ss.

X

0.15

0.2

0.5

1

IS

2

2.5 3

3.5

B 4

3.30

245

0.88

025

—0.04

~0.0g —043

—0.58

—0.73

(a) Complete the table.

(b) On the grid, draw the graph of y =

The last two points have been plotted for you.

g\

2x

L X sr015<3<35.

3.3

] 0
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(¢) Use your graph to solve the equation % —% = % for 0.15<x<35.

(d) (i) On the grid, draw the line y =2 —x.

(ii) Write down the x co-ordinates of the points where the line y = 2 —x crosses the graph of

{ -
= ——= <x<35.
Y=5:."12 for 0.15<x<3.5

xX= 0:2% andx=:2q?) [2]

(e) Show that the graph of y = % - % can be used to find the value of V2 for 0.15 <x<3.5.

T -
2J3 A4
20

3:‘.0):(,1‘. \-Liz
(2]
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5  The diagram shows the graph of y = f(x) where f(x)=x>— % -2, x#0.
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(a) Use the graph to find

@ f(),

() ff(-2).

(b) On the grid opposite, draw a suitable straight line to solve the equation

xz—%—7=—3x for—3 <3< 3.

2
X —9—;—230
-39

(¢) By drawing a suitable tangent, find an estimate of the gradient of the curve at x = — 2.

............................................... [3]
(d) (i) Complete the table for y = g(x) where g(x)=2""for—3 <x<3.
x -3 == -1 0 1 2 3
y & | 4 2 1 0.5 | 025 0.125
[3]
(ii) On the grid opposite, draw the graph of y = g(x). [3]

(iii) Use your graph to find the positive solution to the equation f(x) = g(x).

The Maths Society
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The table shows some values of y = 5 + %— %, x#0.
X

X =3 =2 -1 | -05 | —03 0.2 0.3 0.5 1 2 3
y | 53|33 (8- 81 | 178 1903 45 | 01 | -05| 13 |3
(a) Complete the table.
2
(b) On the grid, draw the graph of y = x7+%_% for -3 <x<-03and 0.2<x<3.
X
")
................................................. 8 S0 A T

The
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2
(¢) Use your graph to solve x? + Lz = <0.
X2 X
....... 06 <x< b8 . .. m
2
(d) Find the smallest positive integer value of k for which % + Lz - % =k has two solutions
X
for -3 <x<-0.3and 0.2 <x<3.
.................................................... [1]
2
(e) (i) By drawing a suitable straight line, solve % + Lz - % =3x+1 for-3<x<-0.3and
X
02<x<3.
x= O ...... 88 .......................... [3]
" / gy . 4 3 )
(ii) The equation —2—+—2-—}- =3x+1 canbewrittenas x +ax +bx " +cx+2=0.
)
Find the values of @, b and c.
3. 74
2 2 r = 0
2, g ~Hou- Bx T A
'k
-6
A= ettt
R S
-t
€ = ettt [3]
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The table shows some values for y = x> +x*—5x.

X

—3

=2

=13

0

L5

2.5

N

=3

6

6.4

0

=19

9.4

(a) Complete the table.

(b) On the grid, draw the graph of y=x’+x*—5x for —3<x<3.

The Maths Society
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(¢) Use your graph to solve the equation x> +x*—5x = 0.

(d) By drawing a suitable tangent, find an estimate of the gradient of the curve at x = 2.

(e) Write down the largest value of the integer, k, so that the equation x> +x®—5x =k has three solutions
for -3 <x<3.
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